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1. Answer the following questions (any ten) :
1x10=10
woq 2pTged et fordl (R et w=d)

(a) What is social indifference curve?

AWt Faeas @4 62

(b) Define property rights.
Fifieq SfeeRa ee fa |

(c) What is monopoly power?
agersoa e I 7
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()  Define cartels.
(d) What is product differentiation?

TR 2] I iy |
AT e e [ 39 2

(m) What is exclusivity?
ddle point.
(e) Define sa

IR et e e 2
CEE ﬁ“ﬁ’ﬁmﬁml (n) Write one difference between private
goods and public goods.

W%WWWWW%TWW
Gl

() What is payoff matrix?
affents (e 2

(99 Im what type of market we get

(0) State Bertrand’s model of oligopoly.
asymmetric information?

SIRAr
@ @R IS SPRe o (R T FHNCFO T e T 1 |

JE?

2. Answer the following questions (any five) :

Give an example of positive externality- 2x5=10

i ot 4T R SRl a1 o PRI TS il (R et shody)
\D
h price (a) Define Pareto efficiency.

() What is first-degree ; LA

discrimination? O RO R

AW 9 v Reew 3o & qem 2

(b) Write two features of public goods,

3 il
What is the basic difference between e T o1 LI
oligopoly and duopoly?

0)

(c) How does concentration ratio determine
TR O o lem qu T degree of monopoly power?
M 5 2 TR TS GFOHA IWR AT gy
: e 17 $¢9 2
(k) What is shutdown point? o

22A/1 ( Turn Ope
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(4)

(d) What is ‘two-person zero-sum’ game? (b)

T2-E N-erF’ (4= 52

(S)

Briefly explain the causes of market
failure.

T RO TR T TR 4 |

(e) What is meant by signaling in
a market? (c) Explain the concept of excess capacity
T TS EE’TCE’ 2 75 9 under monopolistic competition.
& LM PR TGRS ST SRS wwaeR
1] DlSt_lngUISh between production IEIICBT TR <44 |
efficiency and exchange efficiency.
TRAW Tl WIF Ry v qES 212 (d) When is price discrimination possible
forar 1 and profitable? Explain.
@ What fis T Restiedd fA T wIF AeEe =0
g @l ar® minimax and maximin IR AT
strategies?
‘B e ‘R G 5 9 (e) Explain the concept of Prisoner’s
e g Dilemma.
at  is  third-degre i AR 2T
i €
discrimination? T W R sremcor Al
ﬁmﬁﬁmﬁwq%? () Distinguish between perceived and
proportionate demand with the help
3. An : ) i :
swer the followlng questions (any four) : :;: g -
= E AFREFS  o{E Aifes  BIfzwE
G 5x4=20 S
ﬁﬂ’mmﬁm(ﬁmvﬁﬁ): YISEIICO! T4 < |
(@) Explain how
T ei;ftilmency can be achieved (9) Explain how the growth of monopoly
diagram. Tough Edgeworth box power can lead to market failure.
L Ry — GFCHH T TATEC (FeTiea T Rperor
o |
TR MR, 47 e el e 8 I, T T
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(h) Do you think monopolist always
earns supernormal profit?  Justify

your answer.
H[ete FCICA 7 OIS Tegd If% |

f the following questions (any foun :

4. Answe
10x4=40

mem(ﬁmmﬁﬁ):

(a) What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10
oo iR @1 (P P @) 752 Beorr
sgifdel (TIF TEEe FME Regd @emE
wrod FRA AR CREYI TS RTE
<o vE! o |

(p) State and explain Coase’s theorem.
What are the limitations of Coase’s

theorem? 6+4=10
a‘s’awﬁwwwaimﬁmq@
SrarrerTiz < 2
(c) How can monopoly power be controlled

and regulated? Explain. 10
oo qEa X @eme g ue afiite
Eanc ik SRASHENIEEIN
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(7)

(d) Explain how prices and output can

(e)

(9)

22A/1119

be determined under monopolistic
competition in the short run and
long run. 10

GIRFH EES & SE TN ZHFES WA
BAFAS @GR e SR AR, <= <54 1

Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

ﬁ’aﬂﬁwq’ﬁmmww‘

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory?  2+6+2=10

<& ©gq W1 A o1 @b Rt -
@S (I (RS TN RS A1, R
341 | (¥F OGF SCTRRCIE Seard w4l |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails. 2+6+2=10

el B 7 T SPTROR. TEES
Rgq oeE (2 T PN PSRl
e el |
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(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. S5+5=10
GO WIS @I @R R e T,
I M| IO GRS 79 Reenaaeq
CFQ TIF1eq (IR T 47 |

(i) Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10

751 fort v fefewreeer 291 qeme Rrer®)

GIOHI WS (FEATT ST A 2,
SCATOA 4 |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium under

oligopoly. 10
FHCEON TS INESE WF  (BeRNE
CRPATIE GEl S A9 (T |
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